
MAC2233

Sections 5.1 - 5.2

1. Find the general indefinite integral.

(a)
∫

2t− 3 dt

(b)
∫

44 − 10x dx

(c)
∫
x3 − 3x2 + x dx

(d)
∫

10x(x2 − 3)4 dx
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(e)
∫

e
√

x
√
x

dx

(f)
∫ ( 2

x+4)
5

x2 dx

Section 5.3

2. Evaluate the integral.

(a)
∫ 4

2

( 2
x+4)

5

x2 dx

(b)
∫ 2

−1 2x− 6x2 dx
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(c)
∫ 3

1
1 + 1

x + 1
x2 dx

(d)
∫ e2

1
x

x−1 dx

(e)
∫ e2

e
1

x ln x dx
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3. f(x) is a function that is continuous on [-5,5] and satisfies∫ 2

−3
f(x) dx = 5,

∫ 1

−3
f(x) dx = 0.

Evaluate the integral.

(a)
∫ 2

−3 4f(x) + 1 dx

(b)
∫ 2

1
f(x) + x dx
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